




                                                                        

     
                                                                                  

    St. Mary’s Convent Girls High School                                                                            

                                                           1st Semester Syllabus 2020  

 

Class: 7 ( Pink, Green, Blue) 

Subject: English 

Lesson No:5 ( Gulliver’s Travel) 

Dictation Words: Empire, Swift, Firmly, Harbour, Fleet, Twisted, Spectacles 

Words| Sentences: Idea, Terrible, Commanded, Majesty, Attack, Affairs 

MCQS: 1) Gulliver was a __ man (a) Rich (b) NORMAL (c) Insane (2) Gulliver went 

to __ (a) America (b) Britain (c) LILLIPUT (3) The people of Lilliput were__ (a) 

DWARFS (b) Clever (c) Tall (4) They wanted to defeat the empire of __ (a) 

BLEFUSCU (b) Roman (c) Arabia (5) Gulliver’s travels is a story written by __ (a) 

Charles Dickens (b) Shakespeare (c) JONATHAN SWIFT 

Words| Meaning: Official_ Servant of Government, Gladly_ Happily, Stranger_ 

New people, Trouble _ Problem, Lasted_ Continued    

Book Work ( Pg no 24) Q. A Finish these sentences by adding the missing words: 

(1) Official (2) Carriage (3) Belfuscu (4) Grandfather (5) Emperor (6) Three years 

(7) Called Island (8) Telescope (9) Warship (10) Fleet (11) A cable (12) Highest (13) 

Front (14) Spectacles (15) Anchor (16) Dumb (17) Wade (18) Cargo (Part B) 

Willingly, Seen, Given by, Making ready, Bold, Risk, Divided, Told, Looked at, 

Engaged, Defended, Courage, Shout, Scheme. Page no 25 (Part A) (1) Folk, in a 

boat (2) Fat, playing football (3) Beautiful, from the market (4) Moral, in good 

words (5) Strong, while playing cricket (6) Sweet, standing by the road side (7) 

Delicious, in an oven (8) A big, in model town (9) Story, from her friend (10) Sweet 

smelling, in bus. Q|A : Q1. To Gulliver the people of Lilliput seemed very small. 

How does the writer remind us of this? A. To Gulliver the people of Lilliput 

seemed very small because Redresal told Gulliver to hold him ( Redresal) in his 

hand during the conversation. Q2. Why did the emperor make a law that eggs to 

be broken at the smaller end?. A. The emperor made a law that eggs were to be 

broken at the smaller end because his grandson once cut his finger while breaking 



                                                                        

     
                                                                                  

the egg at the bigger end. Q3. Why did war break out between the two 

countries?. A. The war broke out between two countries because the Lilliputians 

broke eggs at the smaller end whereas the Belfuscudians broke eggs at the bigger 

end. Q4. Why did Gulliver not want to take part?. A. Gulliver did not want to take 

part in the war because he was a stranger in Lilliput. Q5. Do you think that 

Gulliver was right to help the emperor of Lilliput?. A. In my opinion the Gulliver 

was right to help the emperor of Lilliput because he was staying with Lilliputians.  

Lesson no:6 Old Greek Tales( The Golden Touch)  

Dictation Words: Rewarded, Mocking, Clasping, Command, Treasure, Distress.  

W|S: Natural, Appetite, Dreadful, Crimson, Murmur, Despair 

W|M : Crimson__ Deep red, Stamping__ Thumping, Groaned__ Cried with pain, 

Anguish__ Pain, Curse__ Damnation . Q|A. Q1. Who was Midas?. A. Midas was a 

Greek king. Q2. Who helped Bacchus (god) ?. A. Midas helped Bacchus. Q3. Which 

gift did Midas ask for?. A. Midas wanted to have golden touch. Q4. What 

happened to Midas next morning?. A. Next morning everything he touched 

turned into gold. Q5. What kind of heart did Midas have?. A. He had a good and 

pure heart. Q6. What happened to his daughter?. A. She also turned into gold 

when touched by her father. Q7. Was Midas happy? A. No, he was not happy at 

all as his daughter was made by him, a statue of gold. Q8. How did the Bacchus 

take the gift back?. A. Bacchus told Midas to bath in the river Pactolus and he will 

lose his golden touch. True or False. (1) Midas was a Greek God. (F). (2) This story 

was told by Europeans. (F). (3) King Midas loved gold more than anything else in 

the world. (T). (4) King Midas took bath in river Nile. (F). (5) King Midas had a 

wicked heart. (F). Book Work (Pg. no 29) Part A. Write opposite meanings. Hard, 

Ugly, Discontent, Interesting, Colourful, Cold, Dissatisfied. Part B. Write Similar 

meanings. Deep red, Changed, Perfume, Lumps, Grasping, Delightful to taste, 

Desire for food, Great sorrow, under a curse, Very valuable, Bring back, 

Foolishness 

Lesson No: Princess Aubergine 

Dictation Words: Destroy, Bumble bee, Palace, Determined, Poisonous, 

Wonderful 



                                                                        

     
                                                                                  

W|S: Dead, Promise, Comfort, Happily, Lovelier, Asleep,  

Q|A: Q1. Why did the farmer’s wife cut the Aubergine?. A. Farmer’s wife cut 

Aubergine because they had nothing to eat. Q2. How did the Princess get her 

name?. A. The princess got the name from Aubergine fruit in which she lived. Q3. 

Why did the queen hate the princess?. A. The queen hated the princess because 

she was so beautiful and the queen was jealous from her. Q4. Why did the queen 

kill her sons?. A. The queen killed her sons because she thought that the princess 

would die in that way. Q5. Where was the secret of princess life was hidden?. A. 

Her life was hidden in a box in a bumble bee in a green and red fish in a near by 

river. Q6. How did the king find the princess?. A. The king found the princess one 

day when he went to north side for hunting. Q7. How did the princess get the 

necklace back again?. A. The princess sent her son to the palace of the king to get 

the necklace for her from the queen. Book Work (Pg no 39) Part A. Write opposite 

meanings: Ugly, Small, Weak, Big, Hard, Admiring, Lie, Virtue, Low, High, Night. 

Part B. Write meanings: (1) Man who lives by working on land, (2) Fine, soft 

thread made by silkworms, (3) Pleased, (4) Gently, (5) Be made to suffer for 

wrong doing, (6) Attractive  

 

Lesson no8: The Cloister and the Earth   

 

Dic Words: Terrible, Cloister, Hearth, Companion, Dared, Fanned, Certainly 

W|S: Shoulder, Courage, Placed, Bow, Dead, Shooting, Pulling. 

BookWork:pgno:44  Part(A) Opposite Meanings: 

Interesting,many,quietly,heavy,smooth,hairy,hot. (Part b):Finish these setences 

with words from the passage:forest,companion,obliged,creatures,fear,point-

death,lose-balance,upset. (part C) Spellings 

:guard,heavy,creature,laughed,leaves,friend,fierce,forty,companion. (partD) Q|A 

Q 1) Why were battles and wars interesting to Gerard ? A) Battles and wars were 

interesting to Gerard because these were new things for him. Q2) What sort of 

people were to be found in a forest in those days? A) Wicked people were to be 

found in a forest. Q 3) Why was Gerard sorry that he had killed the bear? A) 



                                                                        

     
                                                                                  

Gerard felt sorry when he killed the bear because he did not like to kill God’s 

creatures alone. Q 4) ‘By evil chance’ means ‘by bad luck’. Explain in your words 

how Denys was unlucky. A. Denys was unlucky because he had, by chance, 

climbed upon a dead tree that was also not very tall. Q5.What made Gerard stop 

being afraid?. A. Gerard stopped being afraid when he saw Denys in danger. Q6. 

How many trees did the bear climb?. A. The bear climbed upon two trees one by 

one. Q7. ‘ Denys below, with white face…’ What does this phrase tell us about 

Denys?. A. This phrase tells us that he was very afraid. Q8. Why did Gerard fall off 

the branch?. A.  Gerard fell off the branch because he lost his balance.  

 

Lesson No: 9 (The story of transport) 

Dictation Words: Transport, Engine, Downhill, Glider, Steering, Lighter,  

W|M: Effect__ Influence, Current__ Wave, Remain__ Live, Opposing__ Against, 

Gliding__ Slipping 

Comprehension and Vocabulary ( Pg no 48): 25, 31stand 1900, Conditions, Stop, 

Angle, Wind, Fly, Power, Shape and Slope, Airscrew, Across, English, Channel. 

(Part B) True False: True, Untrue, True, True, True, True, Untrue, True, Untrue, 

Untrue. Pg no 49 (Part A) Gerunds: Swimming, Learning, Writing, Losing, Helping, 

Hunting, Stealing, Murdering, Eating, Running. Part C on page no 50 ( Complete 

these sentences by adding gerunds) : They always enjoy playing in the park, She 

told the child to finish eating the food, It’s so sad that I cannot help remembering 

her, The prisoner admitted stealing more than once, The doctor suggested taking 

pills on time, Why does he keep on going there. Q|A. Q1. When did the people try 

gliders?. A. The people tried gliders in the nineteenth century by making different 

kinds of kites. Q2. When was the first glider made?. A. In 1903, two brothers 

Orville and Wilbur Wright; were able to fit a glider with a small engine. Q3. Who 

flew the glider across the English Channel?. A. In 1909, Bleriot flew across the 

English Channels.  

Lesson No 10: A Christmas Carol 

Dictation Words: Parliament, Humbug, Muffler, Miserable, Scrooge 

W|S: Happiness, Felicity, Irony, Foolish, Merry. 



                                                                        

     
                                                                                  

Q|A: When do we celebrate Christmas?. A. Christmas is celebrated on 25th 

December every year. Q2. Who is the writer of this novel?. A. This novel is written 

by Charles Dickens. Q3. What this story is about?. A. This story is about a man 

named Scrooge, who did not believe in the importance and merriment of that 

happy day. Q4. Why did Scrooge keep the door of his office open? .   A. Scrooge 

always kept the door of his office opened so that he could keep an eye on his 

clerk in the next room. Q5. Why did the nephew like Christmas? .    A. His nephew 

kept his Christmas spirit to the last. Q6. What did Scrooge think of people who fall 

in love?. A. Scrooge considered them foolish people. Q7) Can you guess the 

meaning of     the phrase “to have a warm heart”? A) It means to have a happy 

heart. (Book Work)  Pg no 55: Adding   Adverbs:   Struck, keep himself, so-that, 

marry, right, keep, in, wished -a merry-and happy, with out-an.  

Pg no 57 (Part B) : 

Silently,carelessly,roughly,quietly,seriously,wildly,immediately,often,ever,always. 

Pgno56 (part B) : In each of these sentences ,take the adverb phrase at the end 

and place it at the beginning: 1) By noon we had reached Attock. 2) After wards 

we went home.3) On her head she wore a large green hat. 4) With a cry of fear he 

fell to the ground. 5) In his hand he held a gun. 6) With tears in his eyes she 

begged for mercy 7) In his car were four policemen. 8) Under the tree sat a little 

girl.9) Beneath the cliff a sparkling stream ran. 10) Near the hut stood four large 

coconut palms .11) In one corner sat an old man. 12) At the bottom of the boat 

lay a heap of fish. Pg no 57 (PartC) :  1) My brother and I often cycle to school 

together. 2) We have never seen such a strange sight. 3) He always tells the truth. 

4) The boys in my class are usually early. 5) We often meet on Saturday evenings. 

6) The car almost crushed into the side of the house. 7) We had nearly finished 

when the bell rang. 8) A policeman will always tell you what to do. 9) We had just 

arrived when the show began. 10) He was still talking when you arrived. 11) When 

we returned, they were still eating. 12) They sometimes came to see us.  

(Words|Adverbs) : Clever-cleverly, skillful-skillfully, happy-happily,bad-badly,bold-

boldly,quiet-quietly,sincere-sincerely, wise-wisely,heavy-heavily,noisy-

noisily,continual-continually,practical-pracitally,exact-exactly,merry-merrily,shy-

shyly.  
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Class: 7           

English B  

Q1. Words| Antonyms: 

Attend__ Neglect, Detach__ Attach, Brief__ Long, Inferior__ Superior, Ascend__ 

Descend, Blame__ Praise, Catch__ Drop, Stale__ Fresh, Assist__ Hinder, Honour _ 

Insult, King__ Subjects, Include__ Exclude, Bless__ Curse, Detuct__ Add, Follow__ 

Lead, Sink__ Swim, Hurt__ Heal, Persuade__ Dissuade, Beautify__ Disfigure, 

Conceal__ Reveal, Prohibit__ Permit, Explicit__ Unclear, Assemble__ Disperse, 

Arm__ Disarm, Bare__ Covered, Veil__ Unveil, Admit__ Deny, Humble__ Showy, 

Artificial__ Natural, Irritate__ Calm, Active__ Passive, Comfort__ Disturb, Begin__ 

Finish, Lead__ Follow, Always__ Never, Offer __ Refuse, Rise__ Fall, Gap__ 

Complete, Chilly__ Warm, Run__ Stop, Gather__ Scatter, Doubt__ Believe, 

Hold__ Release, Enlarge__ Reduce, Untie__ Divide, Remember__ Forget, 

Disease__ Health, Saltish__ Sweet, Below__ Above, Guest__ Host                                      

Q2. Words| Synonyms:                   

Prevail__ Exist, Cease__ Stop, Scarcity__ A short supply, Bower__ Shady place, 

Enchant__ To charm or delight, Flaw__ Fault, Fatal__ Deadly, Despise__ Hate, 

Detuct__ Add, Brow__ Forehead, Crowd__ Mob, Intact__ Undamaged, Jolt__ 

Jerk, Oppose__ Disagree, Permit__ Allow, Deserve__  To be worthy of, 

Overcome__ Control, Enough__ Sufficient, Chief__ Leader, Base__ Foundation, 

Broad__ Wide, Excite__ Provoke, Clarify__ Explain, Mercy__ Pity, Aid__ Help, 

Joke__ Jest, Lad__ Boy, Girl__ Lass, Great__ Lofty, Sensibly__ With good sense, 

Distract__ Confuse, Popped__ Put suddenly, Rubbish__ Waste material, 

Garbage__ Domestic waste, Charming __ Pleasing, Add __ Increase, Certain__ 

Sure, Ban__ Prohibit, Stress__ Mental tension, Above__ Overhead.                 

Q3. Singular| Plural:                      

Ape__ Apes, Jackal__ Jackals, Rag __ Rags, Storey__ Storeys , Garland__ Garlands, 

Mason__ Masons, Skeleton__ Skeletons, Helicopter__  Helicopters, Roof__ Roofs, 

Lawn__ Lawns, Oven__ Ovens, Quill__ Quills, Sack__ Sacks, Team__ Teams, 



Kettle__ Kettles, Quarrel__ Quarrels, Sign__ Signs, Kangaroo__ Kangaroos , 

Lamp__ Lamps, Sum__ Sums,  Hill__ Hills, Grapes__ Grapes, Rose__ Roses, Toe__ 

Toes, Summer__ Summers, Nest__ Nests, Lock__ Locks, Queen__ Queens, Fort__ 

Forts, Dwarf__ Dwarfs, Flame__ Flames, Jar__ Jars, Holiday__ Holidays, Joke__ 

Jokes, Machine__ Machines                      

Q4. Masculine| Feminine:                               

Stallion__ Mare, Gander__ Goose, Ram__ Ewe, Heir__ Heiress, Author__ 

Authoress, Priest__ Priestess, Steward__ Stewardess, Jew__ Jewess, Songster__ 

Songstress, Monitor__ Monitress, Hunter__ Huntress, Waiter__ Waitress, 

Elector__ Electress, He rabbit__ She rabbit, He rat__ She rat, Landlord__ Land 

lady, Bridegroom__ Bride, He camel__ She camel, Washer man__ Washer 

woman, Man servant__ Maid servant, Peacock__ Peahen, Cock sparrow__ Hen 

sparrow, Milkman __ Milk maid, Step father__ Step mother, Billy goat__ Nanny 

goat, School master__ School mistress, Drake__ Duck, Wizard__ Witch, Jackass__ 

Jenny, Bull__ Cow, Fox__ Vixen, Benefactor__ Benefactress, Brother in law__ 

Sister in law, Son in law__ Daughter in law, Poet__ Poetess.           

Q5.Essays: The Holy Prophet on pg. no 223, our festivals on pg no 227, A book fair 

on pg no 224 (You can also write these essays in your words)          

Q6. Stories: A cap seller and the monkeys on page no 229, Bad company on page 

no 230, A wood cutter and God mercy on page no 230.  

Q7. Applications: For the remission of fine for the late submission of fee on page 

no 235, For change of your section on page no 237, For school leaving certificate 

on page no 236 , For attending sister’s marriage on page no 236.          

Q8. Letters: To your father for money, to your friend inviting her at home during 

summer vacation, to your friend to borrow her camera, to uncle for a birthday 

present.                      

Q9. Direct and Indirect on page no 197 to 201    

Q10. Tenses: Present, Past, Future (Tables and definitions)               

Q11. Use of: Is to, Am to, Are to, was to, were to, has to, Have to, had to on page 

no 172                                                                                                                                                        



    

                                                                          

Q12. Proverbs on page no 221                     

Q13. Grammar Club: Unit no 1 and 2 

                               

 























































 






























 




























































 























 
















































 





 





























































 

































































































 
































































































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
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
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

 

































































































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Q. Add: 

i. 
 

 
 
 

 
 = 

   

 
 
 

 
 

ii. –
 

  
 

 

  
 = 

    

  
  

  

  
 

iii. - 
 

  
 
 

 
 = 

      

  
  

   

  
 

iv. - 
 

 
 
  

 
 = 

    

 
  

  

 
 

v. 
 

  
 
  

  
 =     

  
  

  

  
 

vi. 
  

  
 
  

 
 = 

     

  
  

  

  
 

vii. - 
  

  
 
  

  
 = 

     

  
  

   

  
  

viii. 
 

 
 
 

 
 
  

 
 = 
        

  
  

   

  
  

ix. - 
 

  
 
  

 
 
  

 
 = 

         

  
   

  

  
 

Q. Multiply 

i. 
 

  
 
 

 
 = 

  

   
 
  

  
 = 
   

   
  

 

  
 

ii. 
 

  
  

 

 
 = 

  

  
  

 

  
  

    

    
   

 

  
 

iii.  
 

 
 
  

  
 = 

  

  
 
   

   
  

   

   
  

 

 
 



Q.Solve: 

i. (
 

 
 
 

 
)  (

 

 
  

  

  
) 

=(
  

 
 
 

  
)  (

 

  
  

   

  
) 

= 
 

 
 
  

  
 
      

  
 
   

  
 

ii. (
 

  
 
   

  
)  ( 

 

 
 
 

 
) 

= (
  

   
 
    

   
)  ( 

  

 
 
 

  
) 

= 
 

  
 

 

  
 
     

  
 

 

  
 

iii. ( 
 

 
 
  

  
)  (

 

 
 
  

 
)  ( 

 

 
 
   

  
) 

=( 
  

  
 
   

   
)  (

 

  
 
   

 
)  ( 

 

  
 
    

  
) 

=
 

 
 
 

 
 

 

  
 

=
     

  
 

 

  
 

Q. Show that: 

  ( 
 

 
 
 

  
)  

  

 
  

 

 
 (

 

  
 
  

 
) 

  ( 
  

  
 
  

   
)  

  

 
  

 

 
 (

  

   
 
   

  
) 

   
 

  
 
   

 
  

  

 
  

 

  
 

 
     

   
 
     

   
 

  
 

 
 
 

 
 

Q. Show that: 

  
 

 
(
 

 
 
  

  
)  (

  

 
 
 

 
)  (

  

 
 
  

  
) 

  
 

 
(
    

  
)   

 

  
 
  

  
 

  
 

 
 
 

  
 
      

  
 

  
 

  
  

 

  
 



Q. Simplify: 

i. -4 ÷( 
 

 
) 

= -4 ÷  
 

 
      

 

  
 

=
     

 
    

ii. 
  

 
  ( 

  

  
) 

= 
   

  
  

   

   
 

= 
    

   
    

iii. –
 

 
 ( 

 

 
) 

  
  

  
  

  

  
 

 
     

   
 
 

 
 

iv. ( 
 

  
)  ( 

 

  
) 

  
  

   
  

   

  
 

 
     

   
 
 

 
 

v. ( 
 

  
)  

 

  
 

  
  

   
 
   

  
 

  
  

  
 
 

 
  

 

 
 

 

Exercise 8a 
Q.Learn this table. 

 + x + = + 

 + x - = - 

 - x + = - 

 - x - = + 



Note: Multiply the signs then write answer and put sign of greater 

number. 

E.g  +2x   +2x   -2x   -2x 

 +5x   -5x   +5x   -5x 

 +7x   -3x   +3x   -7x 

Q. Add these: 

 2a+3b  3a-4b  -a-4b   4xy-8 

 4a+7b  2a+5b  3a+1b  1xy+6 

 6a+10b  5a+1b  +2a-3b  5xy-2 

    

 

 

 +4a
2
+6a-3  +2a

2
-3ab+4b

2  
-4a

2
+6a-3

 
 -5x

2
+6xy-

8y
2 

 +2a
2
-3a+7  -7a

2
+5ab-3b

2  
+2a

2
-3a+7 

 +2x
2
+7xy+3y

2
 

 +3a
2
+4a-2  -3a

2
+4ab-5b

2  
+3a

2
+4a-2  -1x

2
-3xy-

4y
2 

 9a
2
+7a+2  -8a

2
+6ab-4b

2
  +1a

2
+7a+2  -4x

2
+10xy-

9y
2 

Q. x
2
-2xy+ y

2
, 2xy+ x

2
+ y

2
,4x

2
-xy + y

2
, x

2
- y

2 

    
1x

2
-2xy+ y

2 

    
1x

2
+2xy+y

2
 

    4x
2
-  xy +y

2
 

    1x
2
      -y

2 

    
7x

2
 –xy+2y

2  

Q. If A=2x-3y+4z, B=5x-6y+7z, C= -x-y+ z Find A+B+C 

  A= 2x-3y+4z    X= 2x
2
-3xy+4y

2 

  B= 5x-6y+7z    Y= 1x
2
+2xy-3y

2 

  C= -x-y+ z     Z= -4x
2
+5xy+1y

2 

    A+B+C=6x-10y+12z          X+Y+Z= -x
2
+4xy+2y

2 

Q. Subtract: 



Note: Change the sign of 2
nd

 term and use new sign. 

i. a-b+c from 2a+b-c   ii. 3a-2b-4c from 2a+3b+c 

 +2a+1b-1c      +2a+3b+c 

 +a – b + c      +3a-2b-4c 

 -    +    -      -     +   + 

 +1a+2b-2c      -1a+5b+5c 

iii. x
2
-y

2
+z

2
+2yz from x

2
+y

2
+z

2
+2yz   iv. p

4
-2p

3
-3p

2
-4p-5 from-

p
4
+5p

3
+4p

2
+3p+2 

  +1x
2
+y

2
+z

2
+2yz     -p

4
+5p

3
+4p

2
+3p+2 

  +1x
2
-y

2
+z

2
+2yz     +p

4
-2p

3
-3p

2
- 4p - 5 

  -      +   -     -     -     +    +    +    + 

   2y
2 

     2p
4
+7p

3
+7p

2
+7p+7 

 

Exercise 5    Exponent 

Learn these rules: 

i. x
m

 x x
n
 = x

m+n
  Examples: x

2
 x x

3
 = x

2+3
 = x

5
 

ii. x
m

 ÷ x
n
 = x

m-n    
x

3
 ÷ x

3
 = x

3-3
 = x

0
 = 1 

iii. (   )
n 
= x

mn
     (   )

3 
= x

9
 

iv. x
0
= 1      2

0
 = 1 

Q. Express the following as rational numbers. 

i. (
 

 
)

2  
= 
   

   
  

  

  
 

ii. (
  

 
)

3
 = 

  

 
 
  

 
 
  

 
 
  

  
 

iii. (
 

 
)

-2
 = (

 

 
)
2
 =
   

   
 
  

  
 

iv. (
  

 
)

-3
 = ( 

 

 
)
3
 =
        

     
  

  

 
 

Q. Express as power of rational number. 

i. 
  

   
 
     

     
 
  

  
  (

 

 
)
3 

ii. 
   

  
 
     

   
 
   

  
 (
  

 
)
2 

iii. 
   

   
 
        

     
 
   

  
 = (-

 

 
)
3 



Q. Find the value of: 

i. (
  

 
)

3
x(
  

 
)

2 
=
        

   
 
     

   
 
  

 
 
 

 
 =
    

   
    

ii. ( 
 

 
)

3
÷( 

 

 
)

2
 = 
     

     
 
   

   
 
 

 
 
  

 
   

iii. [( 
 

 
)

2
]

3
 = ( 

 

 
)
6
=
                 

           
 

  

   
 

Q. Simplify and express the result in power notation. 

i. (
 

 
)

5
 x (

 

 
)

3
  Base is same, sign is multiply then add the 

exponent. 

=(
 

 
)
5+3 

= (
 

 
)
8
 

ii. (
 

 
)

6
 ÷ (

 

 
)

4
  Base is same, sign is division then minus the 

exponent. 

= (
 

 
)6-4 = (

 

 
)2 

iii. (
 

 
)

2 
÷ (

 

 
)

4
 = (

 

 
)
2-4

 = (
 

 
)

-2 

iv. (-5)
6
 ÷ (-5)

8
 = -5

6-8
 = -5

-2 

Q. Simplify the following: 

i. (     )                             

ii. (
 

 
)

5
 ÷ (

 

 
)

4
 ÷ (

 

 
)

1
 = (

 

 
)
5-4-1 

= (
 

 
)
5-5

 = (
 

 
)
0
 =1 

iii. [( 
 

 
)

4
 x ( 

 

 
)

2
]÷[(

 

 
)

2
]

3
 = (

 

 
)
4+2 

÷(
 

 
)
6
 = (

 

 
)
6
 ÷ (

 

 
)
6
 = (

 

 
)
6-6

 = (
 

 
)

0
 

= 1 

 

 

Unit no. 3: Decimal Number 

Exercise 3 
Q5. Round off to the decimal place indicated by the encircled digit. 

 Note: Look at the digit to the right of encircled digit if digit is 5 or 

greater than 5, add 1 to the encircled number and drop all the digits to 

the right. 



i. 2⑨.06  =  29 

ii. 210.5③ = 210.53 

iii. 0.⑧26 = 0.8 

iv. 112.9⑨9 = 113 

v. 3⑦.678 = 38 

vi. 416.59⑤ = 416.595 

vii. 4.58④7 = 4.585 

viii. 7.91⑥59 = 7.917 

ix. 3.5④545 = 3.55 

x. 39.ⓞ6 = 39.1 

Q6. Write the fraction in decimal form by changing the 

denominator to a power of 10. 

i. 
 

  
    0.1  ii. 

 

 
  0.5  iii. 

 

  
 0.05 

     10)10         2)10       20)100 

  10    10    100 

    x     x      x 

iv.  
 

  
   0.02  v. 

 

 
   0.4  vi. 

 

  
 0.04 

      50)100           5)20        25)100 

  100    -20    -100 

    x      x       x 

vii. 
 

  
  0.025  viii. 

 

 
   0.75 

     40)100           4)30 

  -80      -28 

  200       20 

         -200      -20 

     x               x 

 

Q10. Express the following decimals as fractions in the lowest term. 



i. 0.25 = 
    

   
 
 

 
       (table of 5) cut down 

ii. 0.007 = 
     

    
 

 

    
 

iii. 5.04 = 
   

   
 
   

  
 
   

  
      (table of 5) 

iv. 0.0095 = 
      

     
 

  

     
 

  

    
    (table of 5) 

v. 
    

    
 = 

    

    
 
   

   
 
   

 
 

vi. 
      

    
=
      

    
 
   

     
 

  

     
 

  

     
 

  

    
 

 

   
         (table 

of 3,11) 

vii. 
      

     
=
      

     
 
    

     
 
     

   
 
    

  
 
    

  
 
    

  
 
   

 
      (table 

of 2, 3) 

Note: Remove the decimal and write zero according to the next 

digits. 

 

Q11. Express the following as recurring decimals. 

 Note: Before solving these sums must see or read definition of 

recurring and terminating and non terminating decimals from the pages 

of book (38, 39). 

i. 
 

 
   0.666  ii.  

 

 
   

 

 
         0.428 

        3)200000   =2+0.428       7)30 

   18    =2.428  28 

     20         20 

     18         14 

       20           60 

       18           56 

         2             40 

 

iii.   
 

  
     0.727  iv. 

 

   
     0.01  

=10+
 

  
      11)80        333)400 

=10+0.727   77       -333 



=10.727     30          670 

      22         -666 

       80            400 

       77           -333 

         3              67 

 

 

v.   
 

  
    0.454 

=90+
 

  
        11)500 

=90+0.454    -44 

=90.454        60 

       -55 

          50 

         -44 

            6 

Q12. Find the decimal value of: 

 Used same method of question11.  

  
 

 
     0.166 

 =4+
 

 
           6)10 

 =4+0.166    -6 

 =4.166     40 

      -36 

          40 

         -36 

            4 

 

Exercise 4b    Squares and Square roots 

Note: (page 56, 57 must read all the steps) 

 

Q3. Derive the positive square root of: 



 

i. 3969 

       63          105           987 

  6          1             9  

         

        +6  -36         +1  1           +9  -81 

      123  369       205     1025        188  1641 

     -369         -1025          +8  1504 

       x              x      1967    13769 

                -13769 

                                      

x   

 

          215           991             789 

  2            9             7  

         

        +2  4          +9  81           +7  49 

        41     62       189  1720        148  1325 

        +1    -41         +9  -1720          +8  -1184 

      425     2125     1981       1981      1569     14121 

       -2125    1981           14121 

          x        x      x 

 

  For Q. 4, 6 use same method 

 

Q5. Total soldiers= 15400             124 

 Leftover soldiers = 15400-24    1         

    = 15376           +1  1 

 No. of soldiers in the front row= 124         22    53 

                +2   -44  

               244       976 



                     

-976 

             x 

Unit no. 6: Direct and inverse variation 
 See all the statement from book Page 84 

Direct Variation 

 Solution 4:     Solution 9: 

 Ticket cost     Weight  Sheets 

 10  Rs. 200    28 g   7 

 25  x     2.5kg   x 

 
  

  
 = 

   

 
     =2.5x1000 

 x x 10 = 25x200     =2500g 

 x = 
      

  
      

  

    
   = 

 

 
 

 x= Rs. 500      x x 28 = 7x2500 

        x = 
      

  
 = 625 

 Solution 5:     Solution 8: 

 Length of cloth cost    Cost   Sugar 

 5m   Rs.1500   3000   150 

 x   15000    8500   x 

 
 

 
   = 

    

     
     

    

    
  = 

   

 
 

 x x 1500 = 5x15000    x x 3000 = 8500 x 150 

 x = 
       

    
      x = 

        

    
 

 x = Rs. 50      x = Rs. 425 

 Solution 6:     Solution 7: 

 Length  Weight   Goods 

 Commission 

 2.5cm   50g    Rs. 2000  200 

 7.5cm   x    Rs. 30000  x 

 
   

   
   = 

  

 
    

    

     
   = 

   

 
  

 x x 2.5 = 7.5 x 50     x x 2000 = 200 x 30000 

 x = 
      

   
      x = 

         

    
 

 x = 150 g      x = Rs. 3000 

Indirect variation 



 Solution 12:     Solution 13: 

 Men   Days    Days   Men 

 8   12    20   6 

 24   x    15   x 

 
 

  
   = 

 

  
    

  

  
   = 

 

 
 

 x x 24 = 8 x 12     20x6 = 15 x x 

 x = 
    

  
      

    

  
   

 x = 4 days      8 men = x 

         Extra men = 8-2 = 6 

 Solution 16: 

 Total profit = Rs. 60720 

 Ratio = 2:3:7 

 Sum of ratio= 2+3+7=12 

 1
st
 partner = 

 

  
                

 2
nd

 partner = 
 

  
                

 3
rd

 partner = 
 

  
                

 Solution 17: 

 Sum of angles of quadrilateral= 360
o 

 Ratio of angles = 3:4:6:7 

 Sum of ratio= 3+4+6+7 

 1
st 

angle = 
 

  
          

 2
nd

 angle = 
 

  
          

 3
rd

 angle = 
 

  
           

 4
th

 angle = 
 

  
           

Unit no. 8 

Exercise 8b 

Q2. Simplify: (Multiply the powers) 

i. (x
4
)

2
 = x

4x2
 = x

8
 

ii. ( y
5
)

3
 = y5x3 = y15

 

iii. (-3a
3
)

2 = -3
2
 x (a

3
)

2
 = -3x -3 a

6
 = 9a

6
 

iv. (-5a
4
)

2
 = -5

2
 x (a

4
)
2
 = -5 x -5 a

8
 = 25a

8
 



v. (2a
2
b

2
)

3
 = 2 x 2 x2(a

2
)
3
 (b

2
)
3
= 8a

6
b

6
 

vi. (
 

 
  )

3
 = 

 

 
 
 

 
 
 

 
x (x

2
)
3 =  

 
   

Q3. Simplify: 

   Base is same then adds the exponent. 

i. (2a)
2
 x (2a)

3  
 or   (2a)

2
 x (2a)

3 
 

= (2a)
2+3       

= 2x2 a
2
 x 2x2x2 a

3
 

=(2a)
5       

=4a
2
 x 8a

3
 

=2x2x2x2x2 a
5      

=4x8xa
2+3 

=32a
5       

=32a
5 

ii. (10x)
2
 x (10x)

3
 

=(10x10x x
2
) x (10x10x10x x

3
) 

= 10x10x10x10x10 x
2
 x x

3 

=100000 x
2+3

 

= 100000 x
5
 

iii. (-2x
6
)

3
 

= -2
3
 (x

6
)

3
 

= -2 x -2 x -2 x
18

 

=-8 x
18

 

iv. (-4ab
2
)

2
 x (2a

2
b)

3
 

= -4 x -4 x a
2
 (b

2
)
2
 x 2

3
 x (a

2
)
3
b

2
 

= 16 a
2
b

4
 x 2

3
 a

6
 b

3
 

= 16 x 8 a
2+6

 b
4+3

 

= 128 a
8
b

7 

Q4. Simplify: 

i. 2(x +3) = 2x +6 

ii. a(2-a) = 2a-a
2 

iii. x (y + z) = xy + xz 

iv. 3a(a
2
-3a) = 3a

3
-9a

2 

During multiply when the base is same then add the exponent. 

v. 5a(4a2-7a-8) = 20a
3
-35a

2
-40 

  Q5 is to be done by the method of Q4 



Q6: 

i. 6mn(2m-3n) = 12m
2
n-18mn

2
 

ii. (x
2
-5x-6)(x-4) 

=x(x
2
-5x-6)-4(x

2
-5x-6) 

=x
3
-5x

2
-6x -4x

2
+20x

2
+24 

=x
3
-5x

2
-4x

2
-6x+20x

2
+24 

=x
3
-9x

2
+14x+24 

iii. (a
2
-ab+b

2
)(a+b) 

=a(a
2
-ab+b

2
)+b(a

2
-ab+b

2
) 

=a
3
-a

2
b+ab

2
+a

2
b-ab

2
+b

3
 

=a
3
+b

3
 

Q7: 

i. 3(x-4)+4(x-3)+5(x-2) 

=3x-12+4x-12+5x-10 

=3x+4x+5x-12-12-10 

=12x-34 

ii. x(a-x)+2x(2a+x)+3x(3a-x) 

=ax-x
2
+4ax+2x

2
+9ax-3x

2
 

=1ax+9ax+4ax+2x
2
-x

2
-3x

2
 

=14ax-2x
2
 

iii. a(b-c)+b(c-a)+c(a-b) 

=ab-ac+bc-ab+ac-bc 

=ab-ab-ac+ac+bc-bc 

=0 

iv. z
2
(x

2
-y

2
)+x

2
(y

2
-z

2
)+y

2
(z

2
-x

2
) 

=x
2
z

2
-y

2
z

2
+x

2
y

2
- x

2
z

2
+ y

2
z

2
- x

2
y

2
 

= x
2
z

2
- x

2
z

2
- y

2
z

2
+ y

2
z

2
+ x

2
y

2
- x

2
y

2
 

=0 

Q8. Simplify: 

 Note: When base is same, sign is divide then minus the exponent. 



i. 
  

 
 
  

 
   

ii. 
   

   
 
    

   
            

iii. 
     

  
                 

iv. 
     

    
 

 

  
         

 

 
   

v. 
       

     
  

  

  
          

 

 
     

Q9. Simplify: 

i. (9x-6y) ÷ 3 =
  

 
 
  

 
       

ii. (6c-18) ÷ 6 =
  

 
 
  

 
     

iii. (4a
3
-10a

2
+6a) ÷ 2a 

=
   

  
 
    

  
 
  

  
 

=2             

=2a
2
-5a+3 

iv. (6x
2
y-4xy

2
) ÷ 2xy 

=
    

   
 
    

   
 

=3x
2-1

y
2-1

 

=3xy 

  Q10 is to be done by the method of Q9 

Q11. 

i. 
         

 
 
         

 
 
         

 
 

= 
  

 
 
  

 
 
   

 
 
  

 
 
  

 
 
   

 
 
  

 
 
  

 
 
   

 
 

=a
2-1

-b+b
2
+b

2-1
-c+c

2
+c

2-1
-a+a

2
 

=a-b+b
2
+b-c+c

2
+c-a+a

2
 

=a-a-b+b-c+c+a
2
+b

2
+c

2
 

= a
2
+b

2
+c

2 

ii. 
           

 
 
           

 
 
      

 
 



=
  

 
 
   

 
 
    

 
 
  

 
 
   

 
 
    

 
 
   

 
 
  

 
 

=a
2-1

-2b+3b
2
+b

2-1 
-4c+5c

2
+5c

2-1
-a 

=a-2b+3b
2
+b-4c+5c

2
+5c-a 

=a-a-2b+b-4c+5c+3b
2
+5c

2
 

=-b+c+3b
2
+5c

2 

Exercise 9    Algebraic Identities 

Learn these formulas: 

i. (a+b)
2
 = a

2
+b

2
+2ab 

ii. (a-b)
2
 = a

2
+b

2
-2ab 

iii.      =(a+b)(a-b) 

iv. (a+b)(a-b)=       

Q. Find the squares. 

1. 2a+1 

(a+b)
2
 = a

2
+b

2
+2ab    Formula 

(2a+1)
2
 =(2a)

2
+(1)

2
+2x2ax1 

     = 4a
2
+1+4a 

2. 3b+2c  Note: 3b=a , 2c=b 
(a+b)

2
 = a

2
+b

2
+2ab    Formula 

(3b+2c)
2
= (3b)

2
+(2c)

2
+2x3bx2c 

      =9b
2
+4c

2
+12bc 

3. 2p
2
+3q

2
 

(a+b)
2
 = a

2
+b

2
+2ab    Formula 

(2p
2
+3q

2
)
2
 =(2p

2
)
2
+(3q

2
)
2
+2x2p

2
x3q

2
 

  =4p
4
+9q

4
+12p

2
q

2
 

Q. Simplify: 

i. 9p
2
+12pq+4q

2
     

 9p
2
x4q

2
=36p

2
q

2
 

=9p
2
+6pq+6pq+4q

2
 

=3p(3p+2q)+2q(3p+2q) 

=(3p+2q)(3p+2q) 



 We have to select a pair when we multiply then get 36p
2
q

2
 

and then add to get 12pq. Pair is 6pq + 6pq 

ii. 4x
2
+4xy+y

2
       x 4x

2
y

2
 

=4x
2
+2xy+2xy+y

2
      + 4xy 

=2x(2x+y)+y(2x+y) 

=(2x+y) (2x+y) 

iii. 25p
2
+10pq+q

2
      x 25p

2
q

2
 

=25p
2
+5pq+5pq+q

2
      + 5pq+5pq = 

10pq 

=5p(5p+q)+q(5p+q) 

=(5p+q) (5p+q) 

iv. 36x
2
+24xy+4y

2
      36 x 4=144 

=36x
2
+12xy+12xy+4y

2
 

=6x(6x+2y)+2y(6x+2y) 

=(6x+2y) (6x+2y) 

v.           

=x
2
+xy+xy+y

2
 

=x(x + y)+y(x + y) 

=(x + y) (x + y) 

Q4. If p+
 

 
  ; show that p

2
+
 

  
    

Taking Square on both sides 

(p+
 

 
 )

2
 = (5)

2 

   
 

  
         

 

 
 = 25 

   
 

  
 = 25-2 

   
 

  
 = 23 

Q5. Find the value of a
2
+b

2
 and a

4
+b

4
 when a+b = 5 and ab = 

4 

 Taking square on both sides 

  (a+b)
2
 = 5

2 



            = 25 
              = 25 
          = 25 
        = 25-8 
        = 17 
  

Taking again square on both sides 

  (a
2
+b

2
)
2
 = (17)

2
 

              = 289 

              = 289 

              = 289 

           = 289 

       = 289-32 

       = 257 

Q6. If 2ab+5cd =5 and abcd=1, what is the value of 

4a
2
b

2
+25c

2
d

2
? 

  2ab+5cd=5 , abcd=1 

  Taking square on both sides 

  (2ab+5cd)
2
=(5)

2
 

  4a
2
b

2
+25c

2
d

2
+2x2abx5cd=25 

  4a
2
b

2
+25c

2
d

2
+20abcd=25 

  4a
2
b

2
+25c

2
d

2
+20x1=25 

  4a
2
b

2
+25c

2
d

2
=25-20 

  4a
2
b

2
+25c

2
d

2
=5 

Q7. Find the value of: 

i. 503 x 503   Using formula= (a+b)
2
 = 

a
2
+b

2
+2ab 

(500+3)
2
 

=(500)
2
+(3)

2
+2x500x3 

=250000+9+3000 

=253009 

ii. 1005 x 1005 



(1000 +5)
2
 

=(1000)
2
+(5)

2
+2x1000x5 

=1000000+25+10000 

=1010025 

iii. 904 x 904 

(900+4)
2
 

=(900)
2
+(4)

2
+2x900x4 

=810000+16+7200 

=817216 

Q8. Simplify:     Using Formula= (a-b)
2
 = a

2
-

2ab+b
2
 

i. 9x
2
-12xy+4y

2
 

a
2
-2ab+b

2   
Formula 

= (3x)
2
-2 x 3x x 2y+(2y)

2
 

= (3x-2y)
2
 

= (3x-2y)(3x-2y) 

ii. 36a
2
-24a+4 

= (6a)
2
-2x6ax2+(2)

2
 

= (6a-2)
2
 

=(6a-2)(6a-2) 

   (iii, iv, v used same method) 

Q11. If a-
 

 
  , then show that: 

   i. a
2
+ 
 

  
   ,  ii.    

 

  
    

 Taking square on both sides 

 (a-
 

 
)
2
 = 2 

 a
2
+ 
 

  
    

 

 
   

 a
2
+ 
 

  
     

 a
2
+ 
 

  
     



 a
2
+ 
 

  
   

 Taking agai square on both sides 

 (a
2
+ 
 

  
)
2
 = (6)

2
 

    
 

  
     

 

  
    

    
 

  
      

    
 

  
    

Q12. Find the continued product of the following. 

   Using Formula= (a+b)(a-b)=       

i. (a+1)(a-1)(a
2
+1) 

= (a
2
-1) (a

2
+1) 

= a
4
-1 

ii. (a+b) (a-b) (a
2
+b

2
) (a

4
+b

4
) 

=(a
2
-b

2
) (a

2
+b

2
) (a

4
+b

4
) 

= (a
4
-b

4
) (a

4
+b

4
) 

=a
8
-b

8
 

iii. (2p+3q) (2p-3q) (4p
2
+9q

2
) (16p

4
+81q

4
) 

= (4p
2
-9q

2
) (4p

2
+9q

2
) (16p

4
+81q

4
) 

= (16p
4
-81q

4
) (16p

4
+81q

4
) 

=256p
8
-6561q

8 

Q13. Express 81p
2
-49q

2
 as product of two terms. 

   Using Formula=(a+b)(a-b)=       

 81p
2
-49q

2
 

 = (9p)
2
-(7q)

2
 

 = (9p+7q) (9p-7q) 

Q14. Express each of as the difference of two squares: 

   Using Formula=(a+b)(a-b)=       

i. (3a+b) (3a-b) 

= (3a)
2
-(b)

2
 



= 9a
2
-b

2
 

ii. (5a+3b) (5a-3b) 

= (5a)
2
-(3b)

2
 

= 25a
2
-9b

2
 

iii. (2x+3y) (2x-3y) 

= (2x)
2
-(3y)

2
 

= 4x
2
-9y

2
 

    Objective type 
1) The symbol of empty set is       (£ , % , Ø ) 

2) {      } number of the element      (6, 3, 4) 

3) Counting number < 10       (8, 9, 6) 

4) C={        } D={       } then C∩D=     (1, 4) , (1, 5) 

, (5, 7) 

5) Square of 81 is equal to       (4, 8, 9) 

6)    means         (0, 1, -1) 

7) -5xy        (trinomial, binomial, 

monomial) 

8) Polynomials of three terms is called   (trinomial, binomial, 

monomial) 

9) 9
3
 means         (81, 27, 

729) 

10) 10
3
 the base is        (3, 10, 30) 

11) 7
3
 the exponent        (3, 7, 21) 

12) (2a+5b)+(2a+5b)      (4a+10b) , (2a+4b) , 

(5a+10b) 

13) ( y
3
)

3
          (y

9
, y

27
, y

3
) 

14)               (a
32

, a
4
, a

12
) 

15)                (y
18

, y
6
, y

12
) 

16) Odd number divisible by 2      (4, 3, 0) 



17) 20xy the co-efficient is       (x, y, 20) 

18) (10xy+15xy)=        (25xy, 15xy, 

10xy) 

19) 2
5
 means         (32, 10, 15) 

20) Round ff of 112.999=      (112.100, 113, 

133.90) 

21) The symbol of belong to is      (∈,  ∩, =) 

22) If A= {     } number of the element     (1, 4, 3) 

23) (
 

 
 
 

 
)         (

 

 
 
 

 
 
 

 
) 

24) A={       }   {   } then A-B=    (2, 3) , (1, 0) , (0, 

1, 2, 3) 

25) Square root of 100 is equal to      (10, 10.2, 

100) 

26) 2x+3y=       (trinomial, binomial, 

monomial) 

27) A number before variable is called   (base, binomial, co-

efficient) 

28) 2
3
 the base is        (2, 8, 0) 

29)    the base is        (7, b, 0) 

30) 5
2
 the exponent is        (2, 5, 10) 

31) 0.25 in form of fraction       (
 

 
 
 

 
 
 

 
) 

32) (x
2
)

3
 =          (x

9
, x

6
, x

12
)  

33)                (a
5
, a

8
, a

6
) 

34)                (y
18

, y
5
, y

12
) 

35) The symbol of intersection to is      (∈,  ∩, =) 

36) (15xy+15xy) =         (30xy, 15xy, 

10xy) 



Science 7 B/G/P 

Chapter 1 

Human Organ System 

Note:Write all the short question answers on the copy 

Short Question answers: 

Q14.What are the symptoms of common cold?                    
Ans: Symptoms of common cold are sore throat, cough, running nose, congestion, sneezing, 
headache, etc. We may have fever during the common cold. 

Q15.What are the symptoms of Pneumonia?                                  
Ans: Common symptoms of pneumonia are cough,fever,nasal congestion,rapid breathing 
with wheezing sound, chest pain, loss of appetite,etc.   

 

 Solved Objective exercises 

Answers of fill in the blanks: 

i. Digestion 
ii. Peristalsis 

iii. Alveoli 
iv. Diaphragm 
v. Breathing 

 Answers of the MCQ’S: 

i. a. small intestine 
ii. c. diaphragm 

iii. b. nose 
iv. c. diaphragm 
v. c. pancreas 

vi. c. vomiting 
 

 

 

 
 

 



Chapter 2 

Transport in Humans and Plants 

Short Question answers: 

Q1.What is transpiration?                                                                                                       
Ans: The supply of food,water,oxygen etc and removal of wastes from our body is called 
transpiration.                   
Q2.What is heart?                                                
Ans: Our heart is a muscular organ about the size of our fist. The heart is found in our chest. 
Q3.What atria and ventricles?                 
Ans:There are four chambers in our heart; two upper chambers called atria and two lower 
chambers called ventricles.                            
Q4.What are blood vessels?              
Ans: The blood travels throughout the body through blood vessels.             
Q5.Name the types of blood vessels.            
Ans: The three types of blood vessels are arteries, capillaries and veins.             
Q6.What are arteries?             
Ans:Arteries are the blood vessels that carry blood away from the heart.           
Q7.What are capillaries?              
Ans: Capillaries are the smallest blood vessels in the body. They are so small that red blood cells 
flow through them one cell at a time.                           
Q8.What are veins?               
Ans: Veins are the blood vessels that bring blood back to the heart.            
Q9.What are coronary arteries?             
Ans: The blood vessels which supply oxygen and food to the heart are called coronary arteries. 
Q10.Define Heart attack.                   
Ans.The death of the part of heart is heart attack or myocardial infarcation.                   
Q11.What is hypertension?                         
Ans. If the blood pressure of a person remains above the normal value (120/80).this condition is 
called high blood pressure or hypertension.                                               
Q12.What are symptoms of hypertension?               
Ans.Some symptoms of hypertension are headache, fatigue, blurred vision, nosebleeds etc.  
Q13.What is diabetes?            
Ans.Diabetes is a disease in which a person has high blood sugar, because his/her body does not 
produce enough insulin.                          
Q14.What are the symptoms of diabetes?               
Ans.Loss of weight,frequent urination,excessive thirst and hunger etc .          
Q15.What is insulin?               
Ans.Insulin is the chemical that is produced in our pancreas. Insulin helps to decrease blood 
sugar.                   
Q16.What is asthma?                         
Ans: Asthma is an allergy that cause the airways of the lungs to swell and narrow. 



Q17.What are the symptoms of asthma?                 
Ans.Symptoms of an asthma attack may be cough ,shortness of breath,wheezing, extreme 
difficulty in breathing, chest pain sweating and increased pulse rate.           
Q18.Define diffusion.                               
Ans:Diffusion is the movement of a substance from where it is in large amount to where it is in 
small amount.                                     
Q19.Define transpiration.                     
Ans.The loss of water by evaporation from plants is called transpiration.       
Q20.Define translocation.                                                                                                   
Ans.The movement of prepared food from leaves to those parts of plant body where it is needed 
is called translocation. 

Solved Objective exercises 

Answers of fill in the blanks: 

i. Veins 
ii. Coronary arteries 

iii. Phloem 
iv. Stomata 
v. Xylem 

Answers of the MCQ’S: 

i. a. arteries 
ii. c.in capillaries 

iii. c.the oxygen in it is replaced with carbondioxide 
iv. translocation 
v. left atrium 

vi. transpiration 
 
 
 
 

Chapter 3 
Reproduction in Plants 

 
Short Question answers: 
Q1.What is reproduction? 
Ans.Reproduction is the process by which organisms produce more organisms like 
themselves. 
Q2.Define pollination. 
Ans.The transfer of pollen grains from the anther of a flower to the stigma of the carpel is 
called pollination. 
Q3.What are the kinds of pollination? 



Ans.There are two kinds of pollination,i.e. self –pollination and cross-pollination. 
Q4.What are the four main parts of flower? 
Ans.The four main parts of a flower are: 
        1.Petal   2.Sepal   3.carpel   4.stamen 
Q5.Define Self-Pollination. 
Ans.The transfer of pollen grains from the anther to the stigma of the flower or the same 
plant is called self pollination. 
Q6.Define cross pollination. 
Ans.The transfer of pollen grains from the anther of a flower to the stigma of a flower on 
another plant of the same kind is called cross pollination. 
Q7.What are pollinators? 
Ans.The agents that carry pollen grains from the anthers of the flowers to the stigmas are 
called pollinators.Wind,water,insects,birds,and bats etc,.are few pollinators. 
Q8.What are the kinds of reproduction? 
Ans.There are two kinds of reproduction . 
 1.Asexual reproduction   2.Sexual reproduction 
Q9.Define Asexual reproduction. 
Ans.The type of reproduction in nwhich a cell from only one parent develops into 
offspring is called asexual reproduction. 
Q10.Define sexual reproduction. 
Ans.When two gamete one from each parent combine to form a zygote,the process is 
called sexual reproduction. 
Q11.What is zygote? 
Ans.A male gamete (sperm) and a female gamete(egg) fuse to form a zygote.Later,the 
zygote develops into the seed and the seed grows into a new plant. 
Q12.What is fertilization? 
Ans.The process of fusion of sperm with egg is called fertilization. 

Solved Objective exercises 
Answers of fill in the blanks: 
 

i. seed coat  
ii. gametes 

iii. cross pollination 
iv. wind  
v. ovule 

 
Answers of the MCQ’S: 

i. d.flower 
ii. c.pollen grains stick to its body 

iii. c.pollen tube 
iv. d.stigma 
v. b.a single parent 
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Social Studies (Class 7 P/G/B) 
 

CHAPTER 4: Minerals and natural resources of the Muslim world. 

A. Fill in the blanks. 

1). _________ is banned from exporting oil. (Iraq)  

2). Oil is the _______________material.  (raw) 

3). The only oil producer of coal is________________. (Kazakistan) 

4). _________________ is fourth largest producer of nickel. (Indonesia) 

B. Four possible options are given for each statement Mark (✓) on the correct option. 

i.  Indonesia rank for gold producer is 

(a) 9th      (b) 8th     (c) 7th ✓ 

ii.  The world’s largest producer of silver is  

(a) Afghanistan    (b) Kazakistan ✓   (c) China 

iii.  The valuable metal is often used like zinc   

(a) nickel ✓     (b) wheat    (c) both 

iv.  The Muslim world produces about ___________ percent lead. 

(a) 7th      (b) 6th ✓     (c) 4th 

v. ___________objects were discovered at Mohenjo Daro. 

(a) copper      (b) bronze ✓     (c) silver 

C. Match Column" A" with the Column "B". 

Column A Column B 

Abu Dubai 22.6 million barrels of oil 
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Pakistan 12% gas reserves 

Qatar 9% oil producer 

Iran 2nd largest oil producer 

USA 6th largest natural gas producer 

 

Answer: 

Column A Column B 

Abu Dubai 9% oil producer 

Pakistan 12.6 million barrels of oil 

Qatar 12% gas reserves 

Iran 6th largest natural gas producer 

USA 2nd largest oil producer 

 

D. Draw any five things which can be used by oil. 

Answer. Page no. 19 (see the diagram) 

E. Short questions 

1).  Which country is famous producer of natural gas?  

Answer. Pakistan is famous producer of natural gas.  

2).  Which country has world’s known gas reserves? 

Answer. Qatar has world’s known gas reserves. 

3).  Name the countries which can supply the huge amount of oil. 

Answer. Saudi Arabia and Iraq can supply the huge amount of oil 

4).  How many things can be used by oil? 
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Answer. Oil can be used as fuel, petrol, in cosmetics, making chemicals, making cloth, for 

fertilizer, paints and medicines. 

5).  From where we get coal? 

Answer. The only important producer of coal in the Muslim world is Kazakistan. 

F. Long questions 

1).  Write a brief note on copper? 

Answer. Page 22, heading copper (Copper is used largely……………producer of copper). 
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CHAPTER 5: Industrialization in the Muslim world. 

A). Fill in the blanks.  

a) The capital of the United Arab Emirates is__________. (Abu Dhabi) 

b) The world’s biggest flower is ___________. (Rafflesia) 

c) Turkey is a popular place for_________. (tourist) 

d) People visit Saudi Arabia mainly for_____________. (pilgrimage) 

e)  Switzerland has reached the peak of its_________. (output)  

 

B.  Four possible options are given for each statement Mark (✓) on the correct option. 

i. The most important factor for development is 

(a) trading     (b) industry ✓     (c) discovery 

ii. _______________ is the most developed country 

(a) Pakistan     (b) Saudi Arabia    (c) Malaysia ✓ 

iii. The world largest exporter of oil is_______.   

(a) Saudi Arabia ✓    (b) Dubai     (c) Iran 

iv. ___________ is the main producer of palm oil. 

(a) Pakistan     (b) Saudi Arabia    (c) Malaysia ✓ 

v. Turkey is a popular place for ___________. 

(a) industry     (b) tourist ✓     (c) tabacco 

C.  Short questions 

1).   What is the importance of industry?  

Answer. Industry is the most important factor in the development of a country, as it creates 

wealth and improves the economy.  
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2).   Which country is the most developed country in the Muslim world? 

Answer. Malaysia is the most developed country in the Muslim world. 

3).   Which country is the largest exporter developed of oil? 

Answer. Saudi Arabia is the largest exporter developed of oil. 

4).   Which country has the best telecommunication network? 

Answer. Malaysia has very well developed telecommunication network. 

5).   How many products are produced in Indonesia? 

Answer. 1). Natural and agriculture product (rubber, coconut, coffee and timber). 

2). Mineral products (oil and tin). 

3). Chemical products (textile, chemicals and paper). 

6).   Why Turkey is famous for tourism? 

Answer. Turkey is a popular place for tourists because of its climate, scenic, landscape and 

history. 

D.  Long questions 

1).   Write a short note on tourism. 

Answer. Page 28, heading Tourism (The Muslim world is developing……………, from Europe, 

Japan and Australia). 
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SECTION 2: HISTORY 

CHAPTER 10: The early Muslims. 

A. Fill in the blanks. 

1). The word _________ means slave. (Mamlook)  

2). Mamlook were based in _______________.  (Egypt) 

3). ________________ is the science of map making. (Cartography) 

4). _________________ is a variation on Tariq’s hill. (Gibraltar) 

5). The Arab rule in Spain lasted till the_____ century. (15th) 

B. Four possible options are given for each statement Mark (✓) on the correct option. 

i. The Umayyad came to power in________  

(a) 661 ✓     (b) 771     (c) 551  

ii. Gibraltar is the variation of ___________.   

(a) Hill of Tariq    (b) Jabal al-Tariq    (c) both ✓ 

iii. The age of wealth and culture is known in period of    

(a) Umayyad     (b) Abbasid ✓    (c) Arabs 

iv. The Muslim world was invaded by ___________. 

(a) France     (b) Europeans ✓    (c) Italians 

v.  Fatimid founded city___________ . 

(a) Syria      (b) Cairo ✓     (c) China 

 

C. Short questions 

1).   Who was the first Caliph?  
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Answer. Hazrat Umar (R.A) was the first caliph of the Muslim world.  

2).   By whom Islam spread into subcontinent? 

Answer. By Muhammad Bin Qasim Islam spread into subcontinent. 

3).   Which period is called the age of wealth and culture? 

Answer. In Islamic history the Abbasid period is known as the age of wealth and culture.  

4).   Who established the education law? 

Answer. Mamoon-ul-Rashid established the education law. 

5).   What is the name of Gibraltar? 

Answer. Gibraltar is the variation of Jabal al-Tariq. 

6).   What is the meaning of Cartography? 

Answer. Cartography is the science of map making.  

7).   What is the meaning of mamlook? 

Answer. The word mamlook means slave in Arabic. 

 

D. Long questions 

1).  What is the importance of Cordoba? 

Answer. Page 47, last paragraph (The Muslim presence in Spain……………, scientists and 

writers). 
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CHAPTER 11: Islam in South-east Asia. 

A. Fill in the blanks. 

1). Today there are over _________ Muslims in China. (14 million)  

2). In India Muslims form _______________ percent of population. (13.4) 

3). Islam was taken to China by________________. (Persians) 

4). Merchants settled in the_________________. (Philippines) 

5). In China Muslims live mainly in the_________________ province. (Western) 

B. Match Column" A" with the Column "B". 

Column A Column B 

India 222.8 million 

Indonesia 14 million 

Philippines 13.4 million 

China Trader 

Mughals Roman catholic 

 

Answer: 

Column A Column B 

India 13.4 million 

Indonesia 222.8 million 

Philippines Roman catholic 

China 14 million 

Mughals Trader 
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C. Short questions 

1).   By whom Islam spread to south East Asia?  

Answer. Islam spread by Muslim merchants and traders from Arabia and India.  

2).   Which country has the largest number of Muslims? 

Answer. Indonesia has the largest number of Muslims. It has 222.8 million Muslims in 2007. 

3).   Which religion was imposed to Philippines? 

Answer. Spanish imposed the Roman Catholic Christian religion on Philippines. 

4).   How many Muslims are populated in India? 

Answer. In India Muslims are 13.4% of the population. 

5).   Write down the full wording of USSR? 

Answer. Union of Soviet Socialist Republics. 

F. Long questions 

1).   How did Islam spread in Mughal’s period? 

Answer. Page 52, third paragraph (In the Mughal period, Muslim 

traders………………converting to Islam throughout the region). 
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CHAPTER 12: Minerals and natural resources of the Muslim 

world. 

A. Four possible options are given for each statement Mark (✓) on the correct option. 

i.  Rubaiyat is a plural of _________. 

(a) poem     (b) Rubai ✓    (c) Stanza 

ii.  Study of poem is called___________.   

(a) Historiography ✓   (b) Astronomy    (c) Philosophy 

iii.  9 – 15  Century is called __________ period. 

 (a) silver    (b) golden    (c) zenith ✓ 

iv.  Ibn Batata covered equator ___________ times. 

(a) 3 ✓    (b) 5      (c) 6 

v. ___________is called the father of Rubai. 

(a) Ibn Sina     (b) Omar al Khayyam ✓   (c) Ibn Batuta 

B. Match Column" A" with the Column "B". 

Column A Column B 

Al Khwarizmi 973 

Ibn Khaldun 1126 

Ibn Sina 980 

Ibn Rushd 1332 

Al Beruni 840 

 

Answer: 
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Column A Column B 

Al Khwarizmi 840 

Ibn Khaldun 1332 

Ibn Sina 980 

Ibn Rushd 1126 

Al Beruni 973 

 

C. Short questions 

1).   How many times Ibn Batuta covered equator?  

Answer. Ibn Batuta covered about 120,000 Km – the equivalent of three times round the 

Equator.  

2).   How many languages Al-Beruni spoke? 

Answer. He spoke Turkish, Sanskrit, Persian, Hebrew and Syriac, but he always wrote in 

Arabic. 

3).  How many books Al-Beruni wrote? 

Answer. His many books-said to be 113- included those on medicine, geography, 

astronomy, mathematics and history. 

4).  What was Ibn Rushd’s main contribution? 

Answer. Ibn Rushd main contribution was to philosophy and his treatise on the work of the 

Greek philosopher, Aristotle made him an authority on the subject. 

5).  What is historiography? 

Answer. Historiography is the study of how history is written. 

6).  What is Rubaiyat? 

Answer.  Rubaiyat is a plural for Rubai’i' which is a four line poem. 
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7).  Which period is called zenith period? 

Answer.  The period from the 9th century to the 15th century can be called zenith of the 

Muslim world. 

F. Long questions 

1).  How was the hero of Mathematics? 

Answer. Page 58, heading ‘Al Khwarizmi’, first two paragraph (Mohammad ibn Musa Al 

Khwarizmi…………… are named after him algorithms). 
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CHAPTER 13: The decline and the reawakening of the 

Muslims. 

A. Fill in the blanks. 

1). Shah Waliullah was born in _________ family. (religious)  

2). Syed Ahmed was a man of _______________.  (action) 

3). Syed Ahmed joined the ________________ army. (Pathan) 

4). Syed Ahmed went for Hajj in _________________. (1821) 

5). NWFP has been renamed as _________________. (KPK) 

 

B. Four possible options are given for each statement Mark (✓) on the correct option. 

i. Shah Waliullah was born in _________ family. 

(a) religious ✓    (b) poor   (c) modern 

ii. Syed Ahmed was a man of _______________.   

(a) religion    (b) principle   (c) action ✓ 

iii. In 1921Syed Ahmed went for________ 

(a) learning    (b) hajj  ✓   (c) fighting 

iv. ___________ occupied the subcontinent. 

(a) American    (b) Russian   (c) European ✓ 

v.  The Muslims were completely dominated in __________. 

(a) 18th century    (b) 19th century ✓   (c) 17th century 

C. True or False. 

a. Islam reached its peak in Mughal period.  (True) 
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b. Shah Waliullah was born in 1703.   (True) 

c. Syed Ahmed was a man of action.   (True) 

d. NWFP has been renamed KPK.    (True) 

e. American occupied the subcontinent.   (False) 

D. Short questions 

1).   How did European become powerful?  

Answer. Politically, there were rivalries and corruption which weekend the states, making 

them dependent on the Europeans who had grown stronger as a result of their education, 

industry and increasing wealth. The industrial revolution in the west also made it rich and 

powerful.  

2).   What happened in 19th century for Muslims? 

Answer. By the end of the 19th century the Muslim world was completely dominated by 

Europe. 

3).   What is maktab? 

Answer. Maktab is also a place of learning. The word maktab comes from the word ‘kitab’ 

meaning book. 

4).   Which places are centres of Islam? 

Answer. The madrasa and maktab as the basic centres of Islam learning played a major role 

in the revival of the Muslims. 

F. Long questions 

1).   Who was Shah Waliullah? Write down his effort for Muslims. 

Answer. Shah Waliullah was born in strict religious family. Waliullah was educated in Delhi 

and later went to study in Makka. In 1732, 14 years later, the Muslim situation was even 

worse and they were deeply divided. Waliullah translated the Holy Quran into Persian, 
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which was then understood by most educated people at the time. Waliullah was more than 

just a religious teacher. He was a practical man. He realized that the difference between the 

rich and poor, and the dishonesty of many traders, discouraged many people from obeying 

some of the laws of Islam. Although Waliullah did not reach high office or any position of 

power, the influence of his teaching was immense in the years after his death. He showed 

people the way to return to the purity of their faith.  
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CHAPTER 14: National unity and freedom movements. 

A. Fill in the blanks. 

1). Jamaluddin Afghani was born in _________. (Iran)  

2). Mohammed Abduh’s views were very_______________.  (progressive) 

3). Maulana Jauhar was released in ________________ army. (1919) 

B. Short questions 

1).   In the earlier freedom movement hour many leaders contribute to 

awakening the Muslims?  

Answer. There were some enlightened Muslims like Sir Syed Ahmad Khan, the Ali brothers 

and Allama Iqbal, who realized the plight of their situation. These leaders contributed to the 

awakening of the Muslims.  

2).   What was the belief of Jamaluddin Afghani? 

Answer. Jamaluddin Afghani believed that the Muslim world must modernized if it was to 

successfully meet the challenges of the west 

3).   What Muhammad Abduh became? 

Answer. Muhammad Abduh became a grand mufti and a member of the supreme council of 

Al-Azhar University in Cairo. 

4).   What is the meaning of Ijtihad? 

Answer. Ijtihad is to solve by reasoning, a problem for which no example is found in Quran 

or Sunnah. 

4).   What did Maulana Mohammad Ali Jauhar do as a writer? 

Answer. He started a weekly magazine called Comrade, to awaken the Muslims politically.  
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F. Long questions 

1).   In what way Allama Iqbal’s views about Muslim influence their destiny? 

Answer. Allama Iqbal was a great poet and philosopher. He was a brilliant scholar, studying 

philosophy and law in England and then in Germany. His poetry became a way of putting 

forward his religious and political ideas. As early as 1910, Iqbal thought that the Muslim 

world should be united. He joined the Muslim League in 1927, when it had only 1330 

members. As a chairman of the annual meeting at Allahabad in 1930 he put forward his 

dream of an independent and liberal Islamic state comprising the NWFP, Punjab, Sindh, and 

Balochistan. It is sad that he did not live to see it.  

Holidays Homework 

Note: All the first term syllabus is for learning and writing. 

(Homework) 



 

 

Unit # 1:  “Hardware Basics”      Class: 7 P,G,B 

 

Subjective Part 

Q1. Define the following. 

System unit:  

system unit is a box where processing takes place.It consists of main circuit 

board,processor,power supply and storage devices etc.It can be found in 

different shapes and sizes. 

Memory:  

Memory consists of electronic chips.Memory stores instructions and data so 

that CPU can process them.It is the working space of the computer. 

Motherboard: 

Motherboard or system board is a main circuit board.All the computer 

components are plugged or connected with it . 

Processor: 

Processor works like a human brain.It is a silicon chip fixed on the 

motherboard.Its primary purpose is to carry out set of instructions and process 

the data efficiently and accurately.It is also known as CPU. 

Barcode: 

Barcode is a set of light and dark bars with different width pasted on 

different products . 

Barcode reader: 



Barcode reader is an input device.It gathers information by reading a 

barcode. 

 

 

 

 

SHORT QUESTIONS 

1. Define the brain of computer and write down the names of it's different 

components? 

Ans.Processor works like a human brain.It is a silicon chip fixed on the mother 

board.Its primary purpose is to carry out set of instructions and process data 

efficiently and accurately.It is also known as CPU. 

2. What are the main function of the Arithmetic Logic Unit (ALU)? 

Ans. All mathematical and logical problems are solved in this portion of 

processor .It consists of Arithmetic unit and logic unit. 

3. What is read only memory (ROM)? 

Ans. ROM stands for read only memory .It is a permanent storage area.It 

contain start up instructions of computer and information about it's hardware 

devices.It is fixed on mother board. 

4. How many expansion slots are there in computer? Write their names. 

Ans.  There are three different types of expansion slots i.e 

1. ISA (industry standard architecture ) 

2. PCI (peripheral component interconnect) 

3. AGP (accelerated graphics port) 



5. Why RAM is called volatile memory? 

Ans.  RAM is volatile memory because information is lost when the power is 

switched off. For example, someone is typing a letter on the computer and the 

power goes off, the contents of the letter will be erased from RAM if it is not 

saved. 

 

 

 

 

 

 

LONG QUESTIONS 

Q1. Write down the 5 main uses of the fingerprint reader? 

Ans. A fingerprint is an impression left by a finger or thumb.Fingerprint reader 

is a device that captures a finger print and translates it into a digital code.This 

code is compared with the already stored information in the computer. 

USES OF FINGERPRINT READER: 

1. Fingerprint reader is mostly used for criminal investigations and security 

system. 

2. Fingerprint reader is used for loging and user's authentication. 

3. Fingerprint reader is used in car security system. 

4. Fingerprint reader is used for employees attendance. 

5. Fingerprint reader is used in a door lock for home security. 

Q2. What is the main function of the Robot?  



Ans. Robot is a machine which is controlled by a software contained in a 

chip.Robots are made to help human beings.It is an electronic machine which 

has the ability to interact with physical objects.They are also known as 

mechanical agents.Robots can perform tasks accurately and efficiently.They 

are classified on the basics  of their design and the work they do. 

USES OF ROBOTS: 

1)Robots are used in different fields such as  car 

manufacturing,medicine,military, transportation etc. 

2)Many factory jobs are now preformed by Robots.Robotic hands are widely 

used in factories.NASA is using robots for space exploration. 

Q3. Write names of major expansion cards and explain them? 

Ans. An expansion card is a small circuit board.It gives a computer the 

capability to control a storage device,an input device or an output device.Basic 

purpose of an expansion card is to enhance the capability of  computer. 

There are 4 types of expansion card : 

1)Sound card 

2)Graphic card 

3)Network interface Card 

4)Modem 

SOUND CARD: 

A sound card allows a computer to receive sounds in digital form and 

reproduce it through speakers. 

GRAPHIC CARD: 

A graphic card enables a computer to display output images on monitor screen. 



NETWORK INTERFACE CARD: 

A network interface Card enables a computer to connect and communicate 

with other computers. 

MODEM: 

Modem is used to transmit the digital data over telephone wires .Usually it is 

used for dial up internet connection. 

Q4. What information is gathered from Barcodes? 

Ans. Barcode is a set of light and dark bars with different width pasted on 

different products.Barcode reader is an input device.It gathers information by 

reading a barcode.Every barcode has a series of numbers known as Universal 

product code .(UPC).It reflects the country of origin manufacturer code , 

products name, and check digit (to clarify code).Barcode Reader is a laser 

scanning device.Usually a barcode reader is attached to a computer.It translates 

the information stored in form of Barcode.This information includes batch 

number and product name etc.Barcode readers are mostly used in the 

supermarket,pharmacy, libraries etc. 

 

 

 

 

Unit # 2:  “Software Basics”      Class: 7 P,G,B 

Subjective Part 

Q1. Define the following. 

Software: 



Software is the set of instructions given to the computer to perform 

specific task. 

Utility program: 

Utility program is a system software that allows a user to analyze, 

configure and maintain the computer. It performs a specific task related 

to the management of computer, its devices and files / programs.  

File manager: 

File manager is a utility program that helps user to locate, rename, move, 

copy and delete files. In windows operating system “Windows explorer” 

serves as a file manager.   

Disk Scanner: 

Disk scanner utility is used to detect physical and logical problems of a 

disk.It checks the disk and resolves the errors. 

Device Drivers: 

A device driver is a system software that tells the operating system how 

to communicate with a device. 

Productivity Software: 

Productivity software helps users to work more effectively and 

efficiently to solve their problems. 

 

 

 

 



Application software 

 

Application software is a 
set of computer programs 
that helps users to do a 
specific work on the 
computer. Application 
software helps a user to 
produce documents, create 
graphics, perform 

System software 

 

System software are the 
programs that control and 
direct the operations of 
the computer hardware. 
These software are the 
essential part of the 
computer system. A user 
cannot work on a 

File Manager 

 

File manager is a utility 
program that helps user 
to locate, rename,move, 
copy and delete files. In  

windows operating 
system “Windows 

explorer” serves as a file 

Image Viewer 

 

Image viewer is a  utility 
program that provides an 
environment to view and 
manage images in the 
same folder or location.  

 

 

 

Q2. Differentiate between the following. 

 

     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

Entertainment 
software 

Entertainment 
software are developed 
to entertainment users. 
Computer games are the 
most popular type of 
entertainment software. 
A user can play cricket, 
fly a jet, battle with 
monster,run favourite 

Educational software 

 

Educational software help 
a user to learn a particular 
skill. These software are 
used for help and 
guidance in different 
subjects such as 
Mathematics, English, 
Science, Arabic etc. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Word processing 

 

Word processing 
software are used to 
produce documents such 
as letters, reports, paper 
and memos. Ms.word, 
word prefect and note 
pad are some examples 
of word processing 
software.   

 

Spreadsheet 

 

Spreadsheet software are 
used to work with 
numbers and formulae. A 
user enter numbers in the 
grid of rows and columns 
on the spreadsheet and 
computer performs the 
calculations. Ms.Excel, 
lotus1-2-3 and coral’s 

quattro pro are some 
examples of spreadsheet 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Device Driver 

 

A device driver is a 
system software that tells 
the operating system 
how to communicate 
with the device. It is also 
known as a driver. Most 
of the device drivers are 
automatically installed 
with the Microsoft 
windows. A device can’t 

work properly if device 
driver is not installed e.g. 
device drivers of printer, 

Utilities 

Utility program is a 
system software that 
allows a user to analyze, 
configure and maintains 
the computer. It performs 
a specific task realted to 
the management of 
computer, its devices and 
files / programs. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q3. Give short answers. 

1. List the names of any five application software. 

Ans.  Real player, Ms. Excel, Ms. Word, Ms. Paint, Ms. Power point. 



2. What are the utility programs? 

Ans. Utility program is a system software that allows a user to analyze, 

configure and maintains the computer. 

3. Can a device work without device driver? 

Ans. No, a device can’t work properly if device driver is not installed. 

4. List any five productivity soft ware. 

Ans. Ms.Excel,  Ms.Word,  Lotus 1-2-3,  Note pad,  Ms.Paint    

 

 

 

 

Q4. Give brief answers of the following questions. 

1. What is an operating system? 

Ans. Operating system is a system software. It is just like a soul of a 

computer. It is a collection of programs that supervises and controls 

overall functions of a computer. Operating system also organizes all the 

data and runs other applications in a computer. It creates a link between 

a user and the computer. Microsoft Windows is the most widely used 

operating system for personal computers. Linux, Unix and Mac OS  

are some of the other operating systems. 

2. Write down the basic operations of the operating system. 

Ans. Some of the important functions performed by an operating system are 



given below.  

1. Booting and providing a user interface: 

It loads the system files in the RAM of the computer and provides a 

user interface so that the user can easily work on the computer. 

2. Managing programs: 

Operating system helps a user to work with multiple programs and 

applications simultaneously. User can easily switch through these 

applications by clicking their buttons on the taskbar. 

3. File manager: 

Operating system allows a user to manage files and folders. The user 

can create, save, delete, copy, cut, paste and re-name the files and 

folders easily. 

4. Configuring devices: 

When a computer starts, operating system checks all the devices and 

Loads their drivers. When a new device is attached to the computer, 

operating system configures it and installs its driver so that it can 

work properly. 

3. Write down any three uses of the following soft ware. 

a) Word processing: 

1. It is used to create letters and reports. 

2. It is used to create memos and papers. 

b) Spreadsheet 

1. It is used to calculate different amounts. 

2. It is used to create student’s results and grocery bills etc. 



c) Graphics 

1. It is used to draw pictures. 

2. It is used to make 3D images. 

d) Multimedia 

1. It is used to create visual presentations. 

2. It is used  to add audio and video clips in presentations. 

 

 

All MCQs and fill in the blanks given at the end of the unit 1,2 and 3 are 
included. (answers are given on pg # 158) 

 

 

 

 

 
Dear students stay blessed & may Allah protects you all. 
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2 
  


  1

  2

  3

  4

  5


      




    
      


    1

    2

    3

     4

     5

   6



     7

    8

  
   

 9

     10


 1


 2



 3


 4

 
 5


 586 


3   1

4   2

5   3

2   4

1  
  5





3 



  1

  2

   3

  4

  5

  6

  7

  8

  9

  10


       
        

     

 1

  
 2

   
 3

   



 4

  


 5

  



 

5   1

3   2

4   3

6   4

2   5

1   6

8   7

7   8











4 



 

 
 1

1100 700 900
 2

   
 

 3

 


  
 4

  
 5

  
 6

   
 7

  
 8

  
 9

   
 10

  




   1

     
      2

    3

   

     4

  
       5


 1


 2


 3


 4


 5




   
 1

  
 

 2

  3

  4

  5

  6



 28  7


  1

  2

 


 3

 4

  5

 6

  7

 8

 9

  10





5 


 


 1

   




 2

 50  40  30

 3


   

 4

  
 5

 




 




  1


 


 2

 

 3


 4











 5





 



 


 



  1


 2




     
 

   
  

  




Syllabus of Religion (Second Term)

 Class 7

6 



  1

  

 2 

  
 

 3





   
 4

  
 5

  
 6

  

 7

 
  

 8

  
 9

  
 10

  




 1


 2


 3


 4




  5




    
   

    
  

       2



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


    1 

     2

    3

    4

    5


    

       

 1


 2

 


 3


 4


 5







 1


 2


 3


 4


 5



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


    1

   2

   3

   4

   5

  

  1

 


 2

  3

 4


 5

 44 


    1

    2

    3


     4

    5

   
 6

    7



    8


    9

 
   10




  1


    2

  3

  4


  5


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




 1





 2


 3


 4



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